OUIZ 4 SoLuT(oNG:

Q A linear transformation s defined as any funchon £ @nﬁ;ﬂjhﬂ
£(a+b)= () * £(L) and £lex) = c£0x) where a,b and o

' )

e debivntion f(A)=2x+2 is NOT 4 Unear franstorma-
Hon, buwt {(x)= 3x |g.

(1) £(x) = 3X + 7 i« NOT a lnear fyenstormation:

Fla+rb) = 3(a+b) +2 = 2a+ b + 2 ( A

fla) + f(b) = 3a+2 &+ 3b+2 = 3at3b+4 (BR)

Since (k) # (B), £(x)=3Xx2 s NOT 4 Linear
TVanstovmation 2

(it) fx) = 3x s a WUnear transformation )
P(m*b) = 3(Mb) = Ba+ 3b (&)
Fla) ¥ £(L) = 2ax 3b ()

Since  (#) = (B), ‘he st «condition ix -Mmet, flarb)
L)+ £(B) . Now we check The 2nd cond ition, '

F(er) = 3¢ex) = 2ex (A)
0'?(&7 = C»2R(x) = C-AX= DX (é\)

(ﬁ}:(g) > So f(ox) = c° ECX) . Since {:(X) = X
meetl Lo+t m&ff-l—iungﬁj f(;()f—r;_’;c < a Hneatr
)WMﬁYmaﬁ'iOh.



